Composing With Music Theory
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Chords Within A Key
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Dorian Chords
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Chord Inversions
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Neoclassical Melody | LEVEL 1
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Adding Power Chords | LEVEL 2
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F#m E
= T
SV | ,ﬂ‘
d#%af ‘::::'ﬁ :::::::\::
# * & 3 L 2 4 \1 4 4
PM. -------------- i P.M.- PM.-------- 4 PM. === o 4 P.M. -4 P.M. -4 P.M.
—
1
A
-B——4 4 5 2
2—222222—22—22-2-2—+—0—0-0-0-0-0-0-12-0-0 1400160
N—— N—— N——
D Ct
) ———
s s e K o N — o
- I o sLe)
jo o 0 ¢ 0 ¢ \ oo ¢ o ¢ Lo
©
PM. ------------- i PM.-4 PM.-4i PM. PM.------------- PM.-4 PM.-4 PM.
—
' 6
LA 7 9 7 4 6 4
-B—5 5 5 5 5 55— 55 5—5 5 4—4—4— 44448 44 4—4 4 4
C Dm Em F G Am Bdim
C Major Scale —
# o @ 6 o P )
Fdeess 3 oo ‘
- | —
T
A 4—5
357 5 7 10 12 14 15
-B—3—5—7 3—7 5—8 —7—10 8—12 10—14———12—15 —14—17
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